# SOLVABILITY OF BOUNDARY VALUE PROBLEMS WITH TRANSMISSION CONDITIONS FOR DISCONTINUOUS ELLIPTIC DIFFERENTIAL OPERATOR EQUATIONS 

Mustafa KANDEMIR<br>Department of Mathematics, Education Faculty, Amasya University, Amasya, Turkey mkandemir5@yahoo.com


#### Abstract

. We consider nonlocal boundary value problems which includes discontinuous coefficients elliptic differential operator equations of the second order and nonlocal boundary conditions together with boundary-transmission conditions. We prove coerciveness and Fredholmness for these nonlocal boundary value problems.


## Mathematics Subject Classification (2010). 34A36, 34B10

Key words: Elliptic differential operator, transmission conditions, nonlocal problems, discontinuous coefficients.

## 1. Introduction

We investigated nonlocal boundary value problem with discontinuous operator coefficients for the second order elliptic differential-operator equation and boundary conditions which have transmission conditions in a Hilbert space $H$ :

$$
\begin{align*}
& L(D) u:=-u^{\prime \prime}(x)+A u(x)+\varphi(x) u(x)=g(x), \quad x \in[-1,0) \cup(0,1]  \tag{1.1}\\
& L_{v} u=\alpha_{v} u^{\left(m_{k}\right)}(-1)+\beta_{v} u^{\left(m_{k}\right)}(-0)+\eta_{v} u^{\left(m_{k}\right)}(+0)+\gamma_{v} u^{\left(m_{k}\right)}(1)=f_{v} \tag{1.2}
\end{align*}
$$

where $m_{k} \in\{0,1\} ; \alpha_{v}, \quad \beta_{v}, \quad \eta_{v}, \quad \gamma_{v}, \quad f_{v}$ are complex numbers; $g(x):=g_{1}(x), A:=A_{1}, \varphi:=\varphi_{1}$ for $x \in[-1,0)$ and $g(x):=g_{2}(x), A:=A_{2}, \varphi:=\varphi_{2}$ for $x \in(0,1] ; A_{k}$ are unbounded operators in $H$ and $\varphi$ is a measurable function on $[-1,0) \cup(0,1]$. Problems of such type arise in heat and mass transfer in various physical transfer problems and in diffraction problems (see, for example, A. V. Likov [10]; A. A. Shkalikov [17] and references cited therein). Elliptic functional differential equations are closely associated with differential equations with nonlocal boundary conditions, which arises plasma theory, and boundary value problems with elliptic differential equations have some important applications such as to elasticity theory, control theory and diffusion processes (see, for example, A. L. Skubachevskii [16]). There are many papers that the spektral properties of such problem are investigated ( see, [1], [2], [4], [14], [17]). Some boundary value problems with discontinuous coefficient and eigenvalue parameter in both the differential equation and boundary conditions have been studied by O. Sh. Mukhtarov, M. Kandemir and others (see, [5][8], [8], [11]-[13]). In this study, we investigated coerciveness and Fredholmness of nonlocal boundary value problem with discontinuous operator coefficients and transmission conditions at point zero in [-1,1] for elliptic differential-operator equations on which S. Yakubov, G. Dore and S. Yakubov have suggestion results for nonlocal boundary value problems with elliptic differential equation in $[0,1]$ (see, [3],[19]). Besides, we have considered methods of solution of boundary value problems for elliptic differential-operator equations, which are suggested by S. G. Krein (see, [9]).

## 2. Preliminaries

In this section, we give some definitions and auxiliary results which are used through the paper.
Lemma 2.1. (18, section 1.2) Let $\left\{A_{0}, A_{1}\right\}$ be an interpolation couple. Hence, $A_{0} \cap A_{1}$ and $A_{0}+A_{1}$ are Banach spaces. It holds that

$$
A_{0} \cap A_{1} \subset A_{j} \subset A_{0}+A_{1}, j=0,1,
$$

where $A_{0}$ and $A_{1}$ are Banach spaces continuously embedded into the Banach space $\mathrm{A}: A_{0} \subset \mathrm{~A}, A_{1} \subset \mathrm{~A}$ and the space $A_{0}+A_{1}$ is defined as

$$
A_{0}+A_{1}:=\left\{a \mid a \in \mathrm{~A}, \exists a_{j} \in A_{j}, j=0,1, \text { where } a=a_{0}+a_{1}\right\},
$$

$$
\|a\|_{A_{0}+A_{1}}:=\inf _{\substack{a=a_{0}+a_{1} \\ a_{j} \in A_{j}}}\left(\left\|a_{0}\right\|_{A_{0}}+\left\|a_{1}\right\|_{A_{1}}\right) .
$$

Theorem 2.2. (18, Theorem 1.8.2) Let $\left\{A_{0}, A_{1}\right\}$ be an interpolation couple. Further, let $j$ and $m$ be integer, $0 \leq j \leq m-1, \eta_{0}$ and $\eta_{1}$ are real numbers with $\eta_{0}+j>0, \eta_{1}+j<m$. Also, let $1 \leq p_{0}, p_{1} \leq \infty$ or $p_{0}=p_{1}=\infty$. Then (in the sense of equivalent norms)

$$
T_{j}^{m}\left(p_{0}, \eta_{0}, A_{0} ; p_{1}, \eta_{1}, A_{1}\right)=\left(A_{0}, A_{1}\right)_{\theta, p}
$$

holds, where $\theta:=\frac{\eta_{0}+j}{m+\eta_{0}-\eta_{1}}, \frac{1}{p}=\frac{1-\theta}{p_{0}}+\frac{\theta}{p_{1}}$.
Theorem 2.3. (9, Theorem 14.1) Each operator $A=U^{-1}+T$, where $U$ is a bounded operator from $F$ into $E$ and $T$ is a compact operator from $E$ into $F$, is Fredholm. Each Fredholm operator $A$ can be represented in the form $A=U^{-1}+T, T$ is a finite dimensional operator.
The $K$-Functional and $K$-Method are expressed by H. Triebel ([18], section 1.3) in the following forms.
Definition 2.1. The $K$-Functional: If $\left\{A_{0}, A_{1}\right\}$ is an interpolation couple, the functional
$K(t, a):=K\left(t, a ; A_{0}, A_{1}\right):=\inf _{\substack{a=a_{0}+a_{1} \\ a_{j} \in A_{j}}}\left(\left\|a_{0}\right\|_{A_{0}}+t\left\|a_{1}\right\|_{A_{1}}\right), u \in A_{0}+A_{1},(0<t<\infty)$, is an equivalent norm in the
space $A_{0}+A_{1}$ and continuous on $(0, \infty)$. Further, if $(0<t<\infty)$ it can be obtained in the form

$$
\min (1, t)\|a\|_{A_{0}+A_{1}} \leq K(t, a) \leq \max (1, t)\|a\|_{A_{0}+A_{1}}
$$

## The $K$-Method:

Let $\left\{A_{0}, A_{1}\right\}$ be an interpolation couple and $0<\theta<1$. If $1 \leq q<\infty$, then

$$
\left(A_{0}, A_{1}\right)_{\theta, q}:=\left\{a \mid a \in A_{0}+A_{1} ;\|a\|_{\left(A_{0}, A_{1}\right)_{\theta, q}}:=\left(\int_{0}^{\infty}\left[t^{-\theta} K(t, a)\right]^{q} \frac{d t}{t}\right)^{\frac{1}{q}}<\infty\right\} .
$$

Definition 2.2. (Direct sum) The Banach space $W_{q}^{k}(-1,0)+W_{q}^{k}(0,1)$, an integer $k \geq 0$, a real $q>1$, is defined as

$$
\begin{gathered}
W_{q}^{k}(-1,0)+W_{q}^{k}(0,1)=\left\{\begin{array}{ll}
u=\left\{\left.\begin{array}{ll}
u_{1}(x), & \text { for } \\
u_{2}(x), & x \in(-1,0) \\
\text { for } & x \in(0,1)
\end{array} \right\rvert\, u_{1} \in W_{q}^{k}(-1,0), u_{2} \in W_{q}^{k}(0,1),\right. \\
\left.\|u\|=\left\|u_{1}\right\|_{w_{q}^{k}(-1,0)}+\left\|u_{2}\right\|_{w_{q}^{k}(0,1)}\right\} .
\end{array} .\right.
\end{gathered}
$$

For convenience below, the direct sum $W_{q}^{k}(-1,0)+W_{q}^{k}(0,1)$ is denoted by $W_{q}^{k}(-1,0,1)$.
Obviously, $W_{q}^{0}(-1,0,1):=L_{q}(-1,0,1)=L_{q}(-1,1)$.
Definition 2.3. Let $H_{1}$ and $H_{2}$ be Hilbert spaces. The set

$$
H_{1} \oplus H_{2}:=\left\{(u, v) \mid u \in H_{1}, v \in H_{2} ;\|(u, v)\|_{H_{1} \oplus H_{2}}:=\left(\|u\|_{H_{1}}^{2}+\|v\|_{H_{2}}^{2}\right)^{\frac{1}{2}}\right\}
$$

with coordinatewise linear operations is a Hilbert space which is called the ortogonal sum of $H_{1}$ and $H_{2}$ Hilbert spaces. Let $A$ be a closed operator in Hilbert space $H$. The domain of definition $D(A)$ of the operator $A$ is turned into a Hilbert space with respect to the norm

$$
\|u\|_{H(A)}:=\left(\|u\|^{2}+\|A u\|^{2}\right)^{\frac{1}{2}} .
$$

$W_{p}^{l}((-1,0,1) ; H), p \in[1, \infty), l$-integer, denotes a Banach space of functions $u(x)$ with values from $H$ which have generalized derivatives up to the $l$-th order inclusive on $(-1,0) \cup(0,1)$ and the norm $\|u\|_{W_{p}^{\prime}((-1,0,1) ; H)}:=\sum_{k=0}^{l}\left[\left(\int_{-1}^{0}\left\|u^{(k)}(x)\right\|^{p} d x\right)^{\frac{1}{p}}+\left(\int_{0}^{1}\left\|u^{(k)}(x)\right\|^{p} d x\right)^{\frac{1}{p}}\right]$ is finite.
$W_{p}^{2}((-1,0,1) ; H(A), H):=L_{p}((-1,1) ; H(A)) \cap W_{p}^{2}((-1,0,1) ; H)$ is a Banach space with the norm $\|u\|_{W_{p}^{2}((-1,0,1) ; H(A), H)}:=\|A u\|_{L_{p}((-1,1) ; H)}+\left\|u^{\prime \prime}\right\|_{L_{p}((-1,1) ; H)}$.

Theorem 2.4. [3] Let $E$ be a complex Banach space, $A$ be a closed operator in $E$ of type $\varphi$ with bound $L$ and $m$ be a positive integer, $p \geq 1, \alpha \in\left(\frac{1}{2 p}, m+\frac{1}{2 p}\right)$. Then there exists $C>0$ (depending only on $L, \varphi, m, \alpha$ and $p$ ) such that for every $u \in\left(E, E\left(A^{m}\right)\right)_{\frac{\alpha}{m}-\frac{1}{2 m p}, p}$ and $\lambda \in \sum_{\varphi}:=\{\lambda \in \square \| \arg \lambda \mid \leq \varphi, \varphi \in(0, \pi)\} \cup\{0\}$,

$$
\int_{0}^{\infty}\left\|(A+\lambda I)^{\alpha} e^{-x(A+\lambda I)^{1 / 2}} u\right\|^{p} d x \leq C\left(\|u\|_{\left(E, E\left(A^{m}\right)\right)_{\frac{\alpha}{m}}^{m} \frac{1}{2 m p} \cdot p}^{p}+|\lambda|^{p \alpha-\frac{1}{2}}\|u\|^{p}\right) .
$$

This theorem has been proved in ([20], Theorem 5.4.2/1).

## 3. Homogeneous problem of transmission-boundary value problem

We will consider in this section a boundary value problem

$$
\begin{align*}
& L_{0}(\lambda) u:=-u^{\prime \prime}(x)+(A+\lambda I) u(x)=0, x \in[-1,0) \cup(0,1]  \tag{3.1}\\
& L_{\nu 0} u:=\alpha_{v} u^{\left(m_{k}\right)}(-1)+\beta_{v} u^{\left(m_{k}\right)}(-0)+\eta_{v} u^{\left(m_{k}\right)}(+0)+\gamma_{v} u^{\left(m_{k}\right)}(1), \quad v=1,2,3,4, \tag{3.2}
\end{align*}
$$

where $\lambda$ is a complex parameter.
Denote:
1)

$$
\theta:=\left|\begin{array}{llll}
(-1)^{m_{1}} \beta_{1} & \alpha_{1} & (-1)^{m_{1}} \eta_{1} & \gamma_{1} \\
(-1)^{m_{2}} & \beta_{2} & \alpha_{2} & (-1)^{m_{2}} \eta_{2} \\
\gamma_{2} \\
(-1)^{m_{1}} \beta_{3} & \alpha_{3} & (-1)^{m_{1}} \eta_{3} & \gamma_{3} \\
(-1)^{m_{2}} \beta_{4} & \alpha_{4} & (-1)^{m_{2}} \eta_{4} & \gamma_{4}
\end{array}\right|
$$

2) $u(x)$ is a solution of equation (3.1) where $u(x):=u_{1}(x)+u_{2}(x) ; u_{1}(x):=u_{11}(x)+u_{21}(x)$ for $x \in[-1,0)$,
$u_{2}(x):=u_{12}(x)+u_{22}(x)$ for $x \in(0,1]$.
3) $R\left(\lambda, A_{k}\right):=\left(\lambda I-A_{k}\right)^{-1}$ is the resolvent of the operator $A_{k}, k=1,2$.

We will assume that $A_{k}$ is a closed densely defined operator in a Hilbert space $H$.
Theorem 3.1. Let the following conditions be satisfied:
$\theta \neq 0,\left\|R\left(\lambda, A_{k}\right)\right\| \leq C(1+|\lambda|)^{-1},|\arg \lambda| \geq \pi-\varphi, k=1,2,0 \leq \varphi<\pi$.

Then problem (3.1)-(3.2) for $f_{k} \in\left(H\left(A_{k}\right), H\right)_{\theta_{k}, p}$, where $\theta_{v}:=\frac{m_{v}}{2}+\frac{1}{2 p}, v=1,2,3,4 . p \in(1, \infty),|\arg \lambda| \leq \varphi$ and $\lambda \rightarrow \infty$, has a unique solution that belongs to the space $W_{p}^{2}\left((-1,0,1) ; H\left(A_{k}\right), H\right)$ and for these $\lambda$ the following coercive estimate holds for the solution of problem (3.1)-(3.2) :

$$
\begin{align*}
& \sum_{k=1}^{2}\left(|\lambda|\left\|u_{k}\right\|_{L_{p}((-1,1) ; H)}+\left\|u_{k}^{\prime \prime}\right\|_{L_{p}((-1,1) ; H)}+\left\|A_{k} u_{k}\right\|_{L_{p}((-1,1) ; H)}\right) \\
& \quad \leq C \sum_{j=1}^{2} \sum_{k=1}^{2}\left(\left\|f_{j k}\right\|_{\left(H\left(A_{k}\right), H\right)_{\rho_{j k}, p}}+|\lambda|^{1-\theta_{j k}}\left\|f_{j k}\right\|\right), \tag{3.3}
\end{align*}
$$

where, $\theta_{11}:=\theta_{1}, \theta_{21}:=\theta_{2}, \theta_{12}:=\theta_{3}, \theta_{22}:=\theta_{4}, f_{11}:=f_{1}, f_{21}:=f_{2}, f_{12}:=f_{3}, f_{22}:=f_{4}$.
Proof. In view of the condition (1) and Theorem 2.4 for $|\arg \lambda| \leq \varphi$, there exist semigroups $e^{-x\left(A_{1}+\lambda l\right)^{\frac{1}{2}}}, e^{-x\left(A_{2}+\lambda l\right)^{\frac{1}{2}}}$ which are the holomorphic and strongly continuous for $x<0$ and $x>0$, respectively. By virtue of S . G. Krein ([9], p 252) and ([20], section 5.4.3), an arbitrary solution of equation (3.1) in the space
$W_{p}^{2}\left((-1,0,1) ; H\left(A_{k}\right), H\right), k=1,2$, has the form

$$
\begin{align*}
u(x) & :=u_{1}(x)+u_{2}(x) \\
& =e^{-x\left(A_{1}+\lambda l\right)^{\frac{1}{2}}} h_{1}+e^{(1+x)\left(A_{1}+\lambda l\right)^{\frac{1}{2}}} h_{2}+e^{-x\left(A_{2}+\lambda I\right)^{\frac{1}{2}}} h_{3}+e^{-(1-x)\left(A_{2}+\lambda l\right)^{\frac{1}{2}}} h_{4}, \tag{3.4}
\end{align*}
$$

where

$$
u_{1}(x):=e^{-x\left(A_{1}+\lambda l\right)^{\frac{1}{2}}} h_{1}+e^{(1+x)\left(A_{1}+\lambda l\right)^{\frac{1}{2}}} h_{2}, \quad u_{2}(x):=e^{-x\left(A_{2}+\lambda l\right)^{\frac{1}{2}}} h_{3}+e^{-(1-x)\left(A_{2}+\lambda l\right)^{\frac{1}{2}}} h_{4} ;
$$

$h_{1}, h_{2} \in\left(H\left(A_{1}\right), H\right)_{\frac{1}{2 p}, p}$ and $h_{3}, h_{4} \in\left(H\left(A_{2}\right), H\right)_{\frac{1}{2 p}, p}$. Let $u \in W_{p}^{2}\left((-1,0,1) ; H\left(A_{k}\right), H\right)$ be a solution of equation (3.1). So, from (3.1) we have

$$
\left[D-\left(A_{k}+\lambda I\right)^{\frac{1}{2}}\right]\left[D+\left(A_{k}+\lambda I\right)^{\frac{1}{2}}\right] u_{k}(x)=0, k=1,2 .
$$

Denote:

$$
\begin{equation*}
r_{k}(x):=\left[D+\left(A_{k}+\lambda I\right)^{\frac{1}{2}}\right] u_{k}(x), k=1,2 . \tag{3.5}
\end{equation*}
$$

Therefore, $r_{k} \in W_{p}^{2}\left((-1,0,1) ; H\left(A_{k}^{\overline{2}}\right), H\right)$ and

$$
\left[D-\left(A_{k}+\lambda I\right)^{\frac{1}{2}}\right] r_{k}(x)=0 .
$$

So, we have

$$
\begin{equation*}
r_{1}(x)=e^{(1+x)\left(A_{1}+\lambda l\right)^{\frac{1}{2}}} r_{1}(-1) \text { and } r_{2}(x)=e^{-(1-x)\left(A_{2}+\lambda l\right)^{\frac{1}{2}}} r_{2}(1), \tag{3.6}
\end{equation*}
$$

where, in view of the Theorem 2.2. $r_{1}(-1) \in\left(H\left(A_{1}^{\frac{1}{2}}\right), H\right)_{\frac{1}{p}, p}$ and $r_{2}(1) \in\left(H\left(A_{2}^{\frac{1}{2}}\right), H\right)_{\frac{1}{p}, p}$.
From (3.5) and (3.6) we have

$$
\begin{aligned}
& u_{1}(x)=e^{-x\left(A_{1}+\lambda l l^{\frac{1}{2}}\right.} u_{1}(-0)+\frac{1}{2}\left(A_{1}+\lambda I\right)^{-\frac{1}{2}}\left[e^{(1+x)\left(A_{1}+\lambda I\right)^{\frac{1}{2}}}-e^{(1-x)\left(A_{1}+\lambda I I^{\frac{1}{2}}\right.}\right] r_{1}(-1), \\
& u_{2}(x)=e^{-x\left(A_{2}+\lambda I\right)^{\frac{1}{2}}} u_{2}(+0)+\frac{1}{2}\left(A_{2}+\lambda I\right)^{-\frac{1}{2}}\left[e^{-(1-x)\left(A_{2}+\lambda I\right)^{\frac{1}{2}}}-e^{-(1+x)\left(A_{2}+\lambda I\right)^{\frac{1}{2}}}\right] r_{2}(1) .
\end{aligned}
$$

Hence, we can write

$$
\begin{align*}
u(x) & \left.=e^{-x\left(A_{1}+\lambda I\right)^{\frac{1}{2}}} u_{1}(-0)+e^{-x\left(A_{2}+\lambda I\right)^{\frac{1}{2}}} u_{2}(+0)\right] \\
& +\frac{1}{2} e^{(1+x)}\left[\left(A_{1}+\lambda I\right)^{-\frac{1}{2}} e^{\left(A_{1}+\lambda I\right)^{\frac{1}{2}}} r_{1}(-1)-\left(A_{2}+\lambda I\right)^{-\frac{1}{2}} e^{-\left(A_{2}+\lambda I\right)^{\frac{1}{2}}} r_{2}(1)\right] \\
& \left.+\frac{1}{2} e^{-(1-x)}\left[\left(A_{2}+\lambda I\right)^{-\frac{1}{2}} e^{\left(A_{2}+\lambda I\right)^{\frac{1}{2}}} r_{2}(1)\right]-\left(A_{1}+\lambda I\right)^{-\frac{1}{2}} e^{-\left(A_{1}+\lambda I\right)^{\frac{1}{2}}} r_{1}(-1)\right] \tag{3.7}
\end{align*}
$$

where, by Theorem 2.2. (see also, [20], Theorem 1.7.7/1) $u_{1}(-0) \in\left(H\left(A_{1}\right), H\right)_{\frac{1}{2 p}, p}$ and $u_{2}(+0) \in\left(H\left(A_{2}\right), H\right)_{\frac{1}{2 p}, p}$. By virtue of ([18], Theorem 1.15.2), the operator $A_{k}^{\frac{1}{2}}$ is an isomorphism from $\left(H\left(A_{k}\right), H\right)_{\frac{1}{2 p}, p}$ onto $\left(H\left(A_{k}^{\frac{1}{2}}\right), H\right)_{\frac{1}{p}, p}$. Hence, (3.7) has form (3.4). Let us prove that the function (3.6) belongs to the space $W_{p}^{2}\left((-1,0,1) ; H\left(A_{k}\right), H\right)$. In view of Theorem 2.4, from (3.4) we have

$$
\begin{align*}
&\|u\|_{W_{p}^{2}((-1,0,1) ; H(A), H)} \leq\left(A_{1}\left(A_{1}+\lambda I\right)^{-1}+1\right)\left[\left(\int_{-1}^{0}\left\|\left(A_{1}+\lambda I\right) e^{-x\left(A_{1}+\lambda I\right)^{1 / 2}} h_{1}\right\|^{p} d x\right)^{\frac{1}{p}}\right. \\
&\left.+\left(\int_{-1}^{0}\left\|\left(A_{1}+\lambda I\right) e^{(1+x)\left(A_{1}+\lambda I\right)^{1 / 2}} h_{2}\right\|^{p} d x\right)^{\frac{1}{p}}\right] \\
&+\left(A_{2}\left(A_{2}+\lambda I\right)^{-1}+1\right)\left[\left(\int_{0}^{1}\left\|\left(A_{2}+\lambda I\right) e^{-x\left(A_{2}+\lambda I\right)^{1 / 2}} h_{3}\right\|^{p} d x\right)^{\frac{1}{p}}\right. \\
&\left.+\left(\int_{0}^{1}\left\|\left(A_{2}+\lambda I\right) e^{-(1-x)\left(A_{2}+\lambda I\right)^{1 / 2}} h_{4}\right\|^{p} d x\right)^{\frac{1}{p}}\right] \\
& \leq C\left[\sum_{k=1}^{2}\left(\left\|h_{k}\right\|_{\left(H\left(A_{1}\right), H\right)_{\frac{1}{2 p}, p}}+|\lambda|^{1-\frac{1}{2 p}}\left\|h_{k}\right\|\right)\right. \\
&\left.+\sum_{k=3}^{4}\left(\left\|h_{k}\right\|_{\left(H\left(A_{2}\right), H\right)_{\frac{1}{2 p}}, p}+|\lambda|^{1-\frac{1}{2 p}}\left\|h_{k}\right\|\right)\right] . \tag{3.8}
\end{align*}
$$

Let us now write (3.4) the function $u(x)$ in (3.2) boundary conditions.

$$
\begin{aligned}
& (-1)^{m_{k}}\left(\alpha_{v} e^{\left(A_{1}+\lambda I\right)^{\frac{1}{2}}}+\beta_{v}\right)\left(A_{1}+\lambda I\right)^{\frac{m_{k}}{2}} h_{1} \\
& +\left(\alpha_{v}+\beta_{v} e^{\left(A_{1}+\lambda I\right)^{\frac{1}{2}}}\right)\left(A_{1}+\lambda I\right)^{\frac{m_{k}}{2}} h_{2} \\
& +(-1)^{m_{k}}\left(\eta_{v}+\gamma_{v} e^{-\left(A_{2}+\lambda I\right)^{\frac{1}{2}}}\right)\left(A_{2}+\lambda I\right)^{\frac{m_{k}}{2}} h_{3}
\end{aligned}
$$

$$
\begin{gather*}
+\left(\eta_{v} e^{-\left(A_{2}+\lambda I\right)^{\frac{1}{2}}}+\gamma_{v}\right)\left(A_{2}+\lambda I\right)^{\frac{m_{k}}{2}} h_{4}=f_{v},  \tag{3.9}\\
v=1,2,3,4, k=1,2, m_{k} \in\{0,1\} .
\end{gather*}
$$

This system can be written as a matrix in the form

$$
\begin{aligned}
& \left(\begin{array}{ll}
(-1)^{m_{1}}\left(\alpha_{1} e^{\left(A_{1}+\lambda l\right)^{1 / 2}}+\beta_{1}\right) e^{\left(A_{1}+\lambda l\right)^{\frac{m_{1}}{2}}} & \left(\alpha_{1}+\beta_{1} e^{\left(A_{1}+\lambda l\right)^{1 / 2}}\right) e^{\left(A_{1}+\lambda l\right)^{\frac{m_{1}}{2}}} \\
(-1)^{m_{2}}\left(\alpha_{2} e^{\left(A_{1}+\lambda l\right)^{1 / 2}}+\beta_{2}\right) e^{\left(A_{1}+\lambda l\right)^{\frac{m_{2}}{2}}} & \left(\alpha_{2}+\beta_{2} e^{\left.\left(A_{1}+\lambda l\right)^{1 / 2}\right)}\right) e^{\left(A_{1}+\lambda l\right)^{\frac{m_{2}}{2}}} \\
(-1)^{m_{1}}\left(\alpha_{3} e^{\left(A_{1}+\lambda l\right)^{1 / 2}}+\beta_{3}\right) e^{\left(A_{1}+\lambda l\right)^{\frac{m_{1}}{2}}} & \left(\alpha_{3}+\beta_{3} e^{\left.\left(A_{1}+\lambda l\right)^{1 / 2}\right)}\right) e^{\left(A_{1}+\lambda l\right)^{\frac{m_{1}}{2}}} \\
(-1)^{m_{2}}\left(\alpha_{4} e^{\left(A_{1}+\lambda l\right)^{1 / 2}}+\beta_{4}\right) e^{\left(A_{1}+\lambda l\right)^{\frac{m_{2}}{2}}} & \left(\alpha_{4}+\beta_{4} e^{\left(A_{1}+\lambda l\right)^{1 / 2}}\right) e^{\left(A_{1}+\lambda l\right)^{\frac{m_{2}}{2}}} \\
(-1)^{m_{1}}\left(\eta_{1}+\gamma_{1} e^{-\left(A_{2}+\lambda l\right)^{1 / 2}}\right) e^{\left(A_{2}+\lambda l\right)^{\frac{m_{1}}{2}}} & \left(\eta_{1} e^{-\left(A_{2}+\lambda l\right)^{1 / 2}}+\gamma_{1}\right) e^{\left(A_{2}+\lambda l\right)^{\frac{m_{1}^{2}}{2}}} \\
(-1)^{m_{2}}\left(\eta_{2}+\gamma_{2} e^{\left.-\left(A_{2}+\lambda l\right)^{1 / 2}\right) e^{\left(A_{2}+\lambda l\right)^{\frac{m_{2}^{2}}{2}}}}\right. & \left(\eta_{2} e^{-\left(A_{2}+\lambda l\right)^{1 / 2}}+\gamma_{2}\right) e^{\left(A_{2}+\lambda l\right)^{\frac{m_{2}}{2}}} \\
(-1)^{m_{1}}\left(\eta_{3}+\gamma_{3} e^{\left.-\left(A_{2}+\lambda l\right)^{1 / 2}\right) e^{\left(A_{2}+\lambda l\right)^{\frac{m_{1}^{2}}{2}}}}\left(\eta_{3} e^{-\left(A_{2}+\lambda l\right)^{1 / 2}}+\gamma_{3}\right) e^{\left(A_{2}+\lambda l\right)^{\frac{m_{1}}{2}}}\right. \\
(-1)^{m_{2}}\left(\eta_{4}+\gamma_{4} e^{-\left(A_{2}+\lambda l\right)^{1 / 2}}\right) e^{\left(A_{2}+\lambda l\right)^{\frac{m_{2}^{2}}{2}}} & \left(\eta_{4} e^{-\left(A_{2}+\lambda l\right)^{1 / 2}}+\gamma_{4}\right) e^{\left(A_{2}+\lambda l\right)^{\frac{2}{2}}}
\end{array}\right)\left(\begin{array}{l}
h_{1} \\
h_{2} \\
h_{3} \\
h_{4}
\end{array}\right)=\left(\begin{array}{l}
f_{1} \\
f_{2} \\
f_{3} \\
f_{4}
\end{array}\right) \cdot
\end{aligned}
$$

Denote: $w_{1}:=\left(A_{1}+\lambda I\right)^{\frac{m}{2}} h_{1}, w_{2}:=\left(A_{1}+\lambda I\right)^{\frac{m}{2}} h_{2}$,

$$
w_{3}:=\left(A_{2}+\lambda I\right)^{\frac{m}{2}} h_{3}, w_{4}:=\left(A_{2}+\lambda I\right)^{\frac{m}{2}} h_{4}
$$

where $m=\max \left\{m_{1}, m_{2}\right\}$. Therefore, from system (3.9) we have

$$
\begin{gather*}
(-1)^{m_{k}}\left(\alpha_{\nu} e^{\left(A_{1}+\lambda l\right)^{\frac{1}{2}}}+\beta_{v}\right)\left(A_{1}+\lambda I\right)^{\frac{m_{k}-m}{2}} w_{1} \\
+\left(\alpha_{v}+\beta_{\nu} e^{\left(A_{1}+\lambda l\right)^{\frac{1}{2}}}\right)\left(A_{1}+\lambda I\right)^{\frac{m_{k}-m}{2}} w_{2} \\
+(-1)^{m_{k}}\left(\eta_{v}+\gamma_{v} e^{-\left(A_{2}+\lambda l\right)^{\frac{1}{2}}}\right)\left(A_{2}+\lambda I\right)^{\frac{m_{k}-m}{2}} w_{3} \\
\quad+\left(\eta_{v} e^{-\left(A_{2}+\lambda I\right)^{\frac{1}{2}}}+\gamma_{v}\right)\left(A_{2}+\lambda I\right)^{\frac{m_{k}-m}{2}} w_{4}=f_{v}, \tag{3.10}
\end{gather*}
$$

## System (3.10) has the form

$$
\left[\left(\begin{array}{cccc}
(-1)^{m_{1}} \beta_{1} & \alpha_{1} & (-1)^{m_{1}} \eta_{1} & \gamma_{11} \\
(-1)^{m_{2}} \beta_{2} & \alpha_{21} & (-1)^{m_{2}} \eta_{2} & \gamma_{2} \\
(-1)^{m_{1}} \beta_{3} & \alpha_{3} & (-1)^{m_{1}} \eta_{3} & \gamma_{3} \\
(-1)^{m_{2}} \beta_{4} & \alpha_{4} & (-1)^{m_{2}} \eta_{4} & \gamma_{4}
\end{array}\right)+R(\lambda)\right]\left(\begin{array}{l}
w_{1} \\
w_{2} \\
w_{3} \\
w_{4}
\end{array}\right)
$$

$$
=\left(\begin{array}{cccc}
\left(A_{1}+\lambda I\right)^{-\frac{m_{1}-m}{2}} & 0 & 0 & 0  \tag{3.11}\\
0 & \left(A_{1}+\lambda I\right)^{-\frac{m_{2}-m}{2}} & 0 & 0 \\
0 & 0 & \left(A_{2}+\lambda I\right)^{-\frac{m_{1}-m}{2}} & 0 \\
0 & 0 & 0 & \left(A_{2}+\lambda I\right)^{-\frac{m_{2}-m}{2}}
\end{array}\right)\left(\begin{array}{l}
f_{1} \\
f_{2} \\
f_{3} \\
f_{4}
\end{array}\right),
$$

where, $R(\lambda)$ can be written as a matrix in the form

Hence, from (3.10), we obtain the system

$$
\begin{aligned}
& (R(\lambda) w)_{1}:=(-1)^{m_{1}} \alpha_{1} e^{\left(\Lambda_{1}+\lambda l\right)^{1 / 2}} w_{1}+\beta_{1} e^{\left(\alpha_{1}+\lambda\right)^{1 / 2}} w_{2} \\
& +(-1)^{m_{1}} \gamma_{1} e^{-\left(\lambda_{2}+\lambda l\right)^{1 / 2}} w_{3}+\eta_{1} e^{-\left(\lambda_{2}+\lambda\right)^{1 / 2}} w_{4}, \\
& (R(\lambda) w)_{2}:=(-1)^{m_{2}} \alpha_{2} e^{\left(A_{1}+\lambda l\right)^{1 / 2}} w_{1}+\beta_{2} e^{\left(A_{1}+\lambda I\right)^{1 / 2}} w_{2} \\
& +(-1)^{m_{2}} \gamma_{2} e^{-\left(s_{2}+\lambda\right)^{1 / 2}} w_{3}+\eta_{2} e^{-\left(\Lambda_{2}+\lambda l\right)^{1 / 2}} w_{4}, \\
& (R(\lambda) w)_{3}:=(-1)^{m_{1}} \alpha_{3} e^{\left(\Lambda_{1}+\lambda\right)^{1 / 2}} w_{1}+\beta_{3} e^{\left(\Lambda_{1}+\lambda\right)^{1 / 2}} w_{2} \\
& +(-1)^{m_{1}} \gamma_{3} e^{-\left(\lambda_{2}+\lambda l\right)^{1 / 2}} w_{3}+\eta_{3} e^{-\left(\lambda_{2}+\lambda\right)^{1 / 2}} w_{4}, \\
& (R(\lambda) w)_{4}:=(-1)^{m_{2}} \alpha_{4} e^{\left(\Lambda_{1}+\lambda I\right)^{1 / 2}} w_{1}+\beta_{4} e^{\left(\Lambda_{1}+\lambda I\right)^{1 / 2}} w_{2} \\
& +(-1)^{m_{2}} \gamma_{4} e^{-\left(\lambda_{2}+\lambda l\right)^{1 / 2}} w_{3}+\eta_{4} e^{-\left(\lambda_{2}+\lambda l\right)^{1 / 2}} w_{4} .
\end{aligned}
$$

By virtue of (20, Lemma 5.4.2/6) for $|\arg \lambda| \leq \varphi$ and $|\lambda| \rightarrow \infty$

$$
\begin{equation*}
\|R(\lambda)\|_{B\left(H^{2}\right)} \rightarrow 0,\|R(\lambda)\|_{B\left(H\left[\left(A_{k}\right)\right]^{2}\right)} \rightarrow 0 . \tag{3.12}
\end{equation*}
$$

Therefore, by $\theta \neq 0$ and Neumann identity for $|\arg \lambda| \leq \varphi$ and $|\lambda| \rightarrow \infty$,

$$
\left[\left(\begin{array}{llll}
(-1)^{m_{1}} \beta_{1} & \alpha_{1} & (-1)^{m_{1}} \eta_{1} & \gamma_{1} \\
(-1)^{m_{2}} \beta_{2} & \alpha_{2} & (-1)^{m_{2}} \eta_{2} & \gamma_{2} \\
(-1)^{m_{1}} \beta_{3} & \alpha_{3} & (-1)^{m_{1}} \eta_{3} & \gamma_{3} \\
(-1)^{m_{2}} \beta_{4} & \alpha_{4} & (-1)^{m_{2}} \eta_{4} & \gamma_{4}
\end{array}\right)+R(\lambda)\right]^{-1}=\left(\begin{array}{llll}
(-1)^{m_{1}} \beta_{1} & \alpha_{1} & (-1)^{m_{1}} \eta_{1} & \gamma_{1} \\
(-1)^{m_{2}} \beta_{2} & \alpha_{2} & (-1)^{m_{2}} \eta_{2} & \gamma_{2} \\
(-1)^{m_{1}} \beta_{3} & \alpha_{3} & (-1)^{m_{1}} \eta_{3} & \gamma_{3} \\
(-1)^{m_{2}} \beta_{4} & \alpha_{4} & (-1)^{m_{2}} \eta_{4} & \gamma_{4}
\end{array}\right)^{-1}
$$

$$
\left.\times \sum_{k=0}^{\infty}\left[-R(\lambda)\left(\begin{array}{llll}
(-1)^{m_{1}} & \beta_{1} & \alpha_{1} & (-1)^{m_{1}} \eta_{1} \tag{3.13}
\end{array} \gamma_{1}\right)^{-1}\right]^{m_{2}}(-1)^{m_{2}} \beta_{2} \alpha_{2}(-1)^{m_{2}} \eta_{2} \gamma_{2}\right]^{k} .
$$

So, system (3.11) has a unique solution for $|\arg \lambda| \leq \varphi$ and $|\lambda| \rightarrow \infty$, and the solution can be expressed in the form of

$$
\begin{aligned}
& w_{j}=\sum_{k=1}^{2}\left[C_{j k}+R_{j k}(\lambda)\right]\left(A_{1}+\lambda I\right)^{\frac{m-m_{k}}{2}} f_{j}, \quad j=1,2, \\
& w_{j}=\sum_{k=1}^{2}\left[C_{j k}+R_{j k}(\lambda)\right]\left(A_{2}+\lambda I\right)^{\frac{m-m_{k}}{2}} f_{j}, \quad j=3,4
\end{aligned}
$$

where $C_{j k}$ are complex numbers and in view of (3.12) for $|\arg \lambda| \leq \varphi$ and $|\lambda| \rightarrow \infty$

$$
\begin{equation*}
\left\|R_{j k}(\lambda)\right\|_{B(H)} \rightarrow 0,\left\|R_{j k}(\lambda)\right\|_{B\left(H\left(A_{k}\right)\right)} \rightarrow 0, k=1,2 \text { for every } j, j=1,2,3,4 \tag{3.14}
\end{equation*}
$$

Therefore, we have

$$
\begin{align*}
& h_{j}=\sum_{k=1}^{2}\left[C_{j k}+R_{j k}(\lambda)\right]\left(A_{1}+\lambda I\right)^{\frac{-m_{k}}{2}} f_{j}, \quad j=1,2, \\
& h_{j}=\sum_{k=1}^{2}\left[C_{j k}+R_{j k}(\lambda)\right]\left(A_{2}+\lambda I\right)^{\frac{-m_{k}}{2}} f_{j}, \quad j=3,4 \tag{3.15}
\end{align*}
$$

Substituting (3.15) into (3.4) we have

$$
\begin{aligned}
& u(x)=\sum_{k=1}^{2}\left[\left(C_{1 k}+R_{1 k}(\lambda)\right) e^{-x\left(A_{1}+\lambda I\right)^{1 / 2}}+\left(C_{2 k}+R_{2 k}(\lambda)\right) e^{(1+x)\left(A_{1}+\lambda I\right)^{1 / 2}}\right]\left(A_{1}+\lambda I\right)^{-\frac{m_{k}}{2}} f_{k} \\
& \quad+\sum_{k=1}^{2}\left[\left(C_{3 k}+R_{3 k}(\lambda)\right) e^{-x\left(A_{2}+\lambda I\right)^{1 / 2}}+\left(C_{4 k}+R_{4 k}(\lambda)\right) e^{-(1-x)\left(A_{2}+\lambda I\right)^{1 / 2}}\right]\left(A_{2}+\lambda I\right)^{-\frac{m_{k}}{2}} f_{k+1} \cdot(3.16)
\end{aligned}
$$

Hence, for $|\arg \lambda| \leq \varphi$ and for $|\lambda| \rightarrow \infty$, we get

$$
\begin{aligned}
& \sum_{k=1}^{2}\left(|\lambda|\left\|u_{k}\right\|_{L_{p}((-1,1) ; H)}+\left\|u_{k}^{\prime \prime}\right\|_{L_{p}((-1,1) ; H)}+\left\|A_{k} u_{k}\right\|_{L_{p}((-1,1) ; H)}\right) \\
& \leq C \sum_{k=1}^{2}\left\{| \lambda | \left[\left(\int_{-1}^{0}\left\|\left(A_{1}+\lambda I\right)^{-m_{k} / 2} e^{-x\left(A_{1}+\lambda I\right)^{1 / 2}} f_{k}\right\|^{p} d x\right)^{\frac{1}{p}}\right.\right. \\
& +\left\|R_{1 k}(\lambda)\right\|\left(\int_{-1}^{0}\left\|\left(A_{1}+\lambda I\right)^{-m_{k} / 2} e^{-x\left(A_{1}+\lambda I\right)^{1 / 2}} f_{k}\right\|^{p} d x\right)^{\frac{1}{p}} \\
& +\left(\int_{-1}^{0}\left\|\left(A_{1}+\lambda I\right)^{-m_{k} / 2} e^{(1+x)\left(A_{1}+\lambda I\right)^{1 / 2}} f_{k}\right\|^{p} d x\right)^{\frac{1}{p}} \\
& \left.+\left\|R_{2 k}(\lambda)\right\|\left(\int_{-1}^{0}\left\|\left(A_{1}+\lambda I\right)^{-m_{k} / 2} e^{(1+x)\left(A_{1}+\lambda I\right)^{1 / 2}} f_{k}\right\|^{p} d x\right)^{\frac{1}{p}}\right]
\end{aligned}
$$

$$
\begin{align*}
& +\left(1+\left\|A_{1}\left(A_{1}+\lambda I\right)^{-1}\right\|\right)\left[\left(\int_{-1}^{0}\left\|\left(A_{1}+\lambda I\right)^{1-m_{k} / 2} e^{-x\left(A_{1}+\lambda I\right)^{1 / 2}} f_{k}\right\|^{p} d x\right)^{\frac{1}{p}}\right. \\
& + \\
& +\left\|R_{1 k}(\lambda)\right\|\left(\int_{-1}^{0}\left\|\left(A_{1}+\lambda I\right)^{1-m_{k} / 2} e^{-x\left(A_{1}+\lambda I\right)^{1 / 2}} f_{k}\right\|^{p} d x\right)^{\frac{1}{p}} \\
& +\left(\int_{-1}^{0}\left\|\left(A_{1}+\lambda I\right)^{1-m_{k} / 2} e^{(1+x)\left(A_{1}+\lambda I\right)^{1 / 2}} f_{k}\right\|^{p} d x\right)^{\frac{1}{p}} \\
& \left.\left.+\left\|R_{2 k}(\lambda)\right\|\left(\int_{-1}^{0}\left\|\left(A_{1}+\lambda I\right)^{1-m_{k} / 2} e^{(1+\lambda)\left(A_{1}+\lambda I\right)^{1 / 2}} f_{k}\right\|^{p} d x\right)^{\frac{1}{p}}\right]\right\} \\
& +\| \sum_{k=1}^{2}\left\{| \lambda | \left[\left(\int_{0}^{1}\left\|\left(A_{2}+\lambda I\right)^{-m_{k} / 2} e^{-x\left(A_{2}+\lambda I\right)^{1 / 2}} f_{k+1}\right\|^{p} d x\right) \|\left(\int_{0}^{1}\left\|\left(A_{2}+\lambda I\right)^{-m_{k} / 2} e^{-x\left(A_{2}+\lambda I\right)^{1 / 2}} f_{k+1}^{p}\right\|^{p} d x\right)^{\frac{1}{p}}\right.\right. \\
& +\left(\int_{0}^{1} \|\left(A_{2}\right.\right. \\
& \left.+\lambda I)^{-m_{k} / 2} e^{-(1-x)\left(A_{2}+\lambda I\right)^{1 / 2}} f_{k+1} \|^{p} d x\right)^{\frac{1}{p}} \\
& \left.+\left\|R_{4 k}(\lambda)\right\|\left(\int_{0}^{1}\left\|\left(A_{2}+\lambda I\right)^{-m_{k} / 2} e^{-(1-x)\left(A_{2}+\lambda I\right)^{1 / 2}} f_{k+1}\right\|^{p} d x\right)^{\frac{1}{p}}\right] \\
& \\
& +\left(1+\left\|A_{2}\left(A_{2}+\lambda I\right)^{-1}\right\|\right)\left[\left(\int_{0}^{1}\left\|\left(A_{2}+\lambda I\right)^{1-m_{k} / 2} e^{-x\left(A_{2}+\lambda I\right)^{1 / 2}} f_{k+1}\right\|^{p} d x\right)^{\frac{1}{p}}\right. \\
& \quad+\left\|R_{3 k}(\lambda)\right\|\left(\int_{0}^{1}\left\|\left(A_{2}+\lambda I\right)^{1-m_{k} / 2} e^{-x\left(A_{2}+\lambda I\right)^{1 / 2}} f_{k+1}\right\|^{p} d x\right)^{\frac{1}{p}}  \tag{3.17}\\
& \quad+\left(\int_{0}^{1}\left\|\left(A_{2}+\lambda I\right)^{1-m_{k} / 2} e^{-(1-x)\left(A_{2}+\lambda I\right)^{1 / 2}} f_{k+1}\right\|^{p} d x\right)^{\frac{1}{p}} \\
& \left.\left.\quad+\left\|R_{4 k}(\lambda)\right\|\left(\int_{0}^{1}\left\|\left(A_{2}+\lambda I\right)^{1-m_{k} / 2} e^{-(1-x)\left(A_{2}+\lambda I\right)^{1 / 2}} f_{k+1}\right\|^{p} d x\right)^{\frac{1}{p}}\right]\right\} .
\end{align*}
$$

In view of the inequality (3.8) or Theorem 2.4, for the terms of the right-hand side of inequality (3.17) we get the following inequalities. We have for the first term

$$
\begin{align*}
& |\lambda|\left(\int_{-1}^{0}\left\|\left(A_{1}+\lambda I\right)^{-m_{k} / 2} e^{-x\left(A_{1}+\lambda\right)^{1 / 2}} f_{k}\right\|^{p} d x\right)^{\frac{1}{p}} \\
& \leq C|\lambda|\left\|\left(A_{1}+\lambda I\right)^{-1}\right\|\left(\int_{-1}^{0}\left\|\left(A_{1}+\lambda I\right)^{1-m_{k} / 2} e^{-x\left(A_{1}+\lambda I\right)^{1 / 2}} f_{k}\right\|^{p} d x\right)^{\frac{1}{p}} \\
& \leq C \sum_{k=1}^{2}\left(\left\|f_{k 1}\right\|_{\left(H\left(A_{1}\right), H\right)_{\theta_{k}, p}}+|\lambda|^{1-\theta_{k}}\left\|f_{k}\right\|\right) \tag{3.18}
\end{align*}
$$

for the second term

$$
|\lambda|\left\|R_{1 k}(\lambda)\right\|\left(\int_{-1}^{0}\left\|\left(A_{1}+\lambda I\right)^{-m_{k} / 2} e^{-x\left(A_{1}+\lambda I\right)^{1 / 2}} f_{k}\right\|^{p} d x\right)^{\frac{1}{p}}
$$

$$
\begin{align*}
& \leq C|\lambda|\left\|\left(A_{1}+\lambda I\right)^{-1}\right\|\left\|R_{1 k}(\lambda)\right\|\left(\int_{-1}^{0}\left\|\left(A_{1}+\lambda I\right)^{1-m_{k} / 2} e^{-x\left(A_{1}+\lambda I\right)^{1 / 2}} f_{k}\right\|^{p} d x\right)^{\frac{1}{p}} \\
& \leq C \sum_{k=1}^{2}\left(\left\|f_{k 1}\right\|_{\left(H\left(A_{1}\right), H\right)_{\theta_{k}, p}}+|\lambda|^{1-\theta_{k}}\left\|f_{k}\right\|\right) \tag{3.19}
\end{align*}
$$

for the ninth term

$$
\begin{align*}
& |\lambda|\left[\left(\int_{0}^{1}\left\|\left(A_{2}+\lambda I\right)^{-m_{k} / 2} e^{-x\left(A_{2}+\lambda I\right)^{1 / 2}} f_{k+1}\right\|^{p} d x\right)^{\frac{1}{p}}\right. \\
& \leq C|\lambda|\left\|\left(A_{2}+\lambda I\right)^{-1}\right\|\left(\int_{0}^{1}\left\|\left(A_{2}+\lambda I\right)^{1-m_{k} / 2} e^{-x\left(A_{2}+\lambda I\right)^{1 / 2}} f_{k+1}\right\|^{p} d x\right)^{\frac{1}{p}} \\
& \leq C \sum_{k=1}^{2}\left(\left\|f_{k 2}\right\|_{\left(H\left(A_{2}\right), H\right)_{\theta_{k+1}, p}}+|\lambda|^{1-\theta_{k+1}}\left\|f_{k+1}\right\|\right), \tag{3.20}
\end{align*}
$$

for the tenth term

$$
\begin{align*}
& |\lambda|\left\|R_{3 k}(\lambda)\right\|\left(\int_{0}^{1}\left\|\left(A_{2}+\lambda I\right)^{-m_{k} / 2} e^{-x\left(A_{2}+\lambda l\right)^{1 / 2}} f_{k+1}\right\|^{p} d x\right)^{\frac{1}{p}} \\
& \leq C|\lambda|\left\|\left(A_{2}+\lambda I\right)^{-1}\right\|\left\|R_{3 k}(\lambda)\right\|\left(\int_{0}^{1}\left\|\left(A_{2}+\lambda I\right)^{1-m_{k} / 2} e^{-x\left(A_{2}+\lambda\right)^{1 / 2}} f_{k+1}\right\|^{p} d x\right)^{\frac{1}{p}} \\
& \leq C \sum_{k=1}^{2}\left(\left\|f_{k 2}\right\|_{\left(H\left(A_{2}\right), H\right)_{k+1, p}}+|\lambda|^{1-\theta_{k+1}}\left\|f_{k+1}\right\|\right) . \tag{3.21}
\end{align*}
$$

Therefore, we can obtain the same result for all the other terms in the right-hand side of inequality (3.17), and the inequality (3.3) has been proved too.

## 4. Nonhomogeneous transmission-boundary value problem

In this section, we will consider the boundary value problem which has the nonhomogeneous equation with a parameter and transmission conditions

$$
\begin{align*}
& L_{0}(\lambda) u:=-u^{\prime \prime}(x)+(A+\lambda I) u(x)=g(x), x \in[-1,0) \cup(0,1],  \tag{4.1}\\
& \begin{aligned}
& L_{v 0} u:=\alpha_{v} u^{\left(m_{k}\right)}(-1)+\beta_{v} u^{\left(m_{k}\right)}(-0)+\eta_{v} u^{\left(m_{k}\right)}(+0)+\gamma_{v} u^{\left(m_{k}\right)}(1)=f_{v}, \\
& v=1,2,3,4, k=1,2
\end{aligned} \tag{4.2}
\end{align*}
$$

Theorem 4.1. Let the following conditions be satisfied:

1) $R\left(\lambda, A_{k} I\right) \leq C(1+|\lambda|)^{-1},|\arg \lambda| \geq \pi-\varphi, \quad k=1,2,0 \leq \varphi<\pi$
where $R\left(\lambda, A_{k} I\right):=(1+|\lambda|)^{-1}$ is the resolvent of the operator $A_{k}$,
2) $\theta \neq 0$,

Then the operator $\mathrm{L}_{0}(\lambda): u \rightarrow \mathrm{~L}_{0}(\lambda) u:=\left(L_{0}(\lambda) u, L_{1}, L_{2}, L_{3}, L_{4}\right)$, for $|\arg \lambda| \leq \varphi$ and sufficiently large $|\lambda|$, is an isomorphism from $W_{p}^{2}\left((-1,0,1) ; H\left(A_{k}\right), H\right)$ onto $\left.\left(L_{p}(-1,1) ; H\right)+\left(H\left(A_{1}\right), H\right)_{\theta_{1}, p}+\left(H\left(A_{1}\right), H\right)_{\theta_{2}, p}+\left(H\left(A_{2}\right), H\right)_{\theta_{3}, p}+\left(H\left(A_{2}\right), H\right)_{\theta_{4}, p}\right), \theta_{v}:=\frac{m_{k}}{2}+\frac{1}{2 p}$, $v=1,2,3,4, k=1,2, p \in(1, \infty)$, and for these $\lambda$ the following coercive estimation holds for the solution of the problem (1.1)-(1.2):

$$
\begin{align*}
& \sum_{k=1}^{2}\left(|\lambda|\left\|u_{k}\right\|_{L_{p}((-1,1) ; H)}+\left\|u_{k}^{\prime \prime}\right\|_{L_{p}((-1,1) ; H)}+\left\|A_{k} u_{k}\right\|_{L_{p}((-1,1) ; H)}\right) \\
& \leq C\left[\sum_{k=1}^{2}\left\|f_{k}\right\|_{L_{p}((-1,1) ; H)}+\sum_{j=1}^{2} \sum_{k=1}^{2}\left(\left\|f_{j k}\right\|_{\left(H\left(A_{k}\right), H\right)_{\theta_{j k}, p}}+|\lambda|^{1-\theta_{j k}}\left\|f_{j k}\right\| \mid\right)\right] . \tag{4.3}
\end{align*}
$$

where, $\theta_{11}:=\theta_{1}, \theta_{21}:=\theta_{2}, \theta_{12}:=\theta_{3}, \theta_{22}:=\theta_{4}, f_{11}:=f_{1}, f_{21}:=f_{2}, f_{12}:=f_{3}, f_{22}:=f_{4}$.
Proof. We have proved the uniqueness in Theorem 3.1. Let us define $\quad f(x):=f_{1}(x):=\tilde{f}_{1}(x)$, at $x \in[-1,0) ; \quad f(x):=f_{2}(x):=\tilde{f}_{2}(x)$, at $x \in(0,1]$,

$$
f(x):=f_{1}(x):=0, \quad \text { at } x \notin[-1,0) ; \quad f(x):=f_{2}(x):=0, \quad \text { at } x \notin(0,1] .
$$

We will show that a solution of the problem (4.1)-(4.2) which belongs to $W_{p}^{2}\left((-1,0,1) ; H\left(A_{k}\right), H\right)$ as a sum in the following form

$$
\begin{aligned}
& u(x)=u_{1}(x)+u_{2}(x) \\
& \quad=u_{11}(x)+u_{21}(x)+u_{12}(x)+u_{22}(x)
\end{aligned}
$$

where

$$
u_{1}(x)=u_{11}(x)+u_{21}(x) \text { for } x \in[-1,0)
$$

$$
u_{2}(x)=u_{12}(x)+u_{22}(x) \text { for } x \in(0,1]
$$

besides,

$$
\begin{aligned}
& u_{10}(x):=u_{11}(x)+u_{12}(x) \\
& \tilde{u}_{10}(x):=\tilde{u}_{11}(x)+\tilde{u}_{12}(x) \\
& u_{20}(x):=u_{21}(x)+u_{22}(x)
\end{aligned}
$$

where $u_{11}(x)$ and $u_{12}(x)$ are the restriction on $[-1,0)$ and $(0,1]$, respectively, of the solutions $\tilde{u}_{11}(x)$ and $\tilde{u}_{12}(x)$ of the equation

$$
\begin{equation*}
L_{0}(\lambda) \tilde{u}_{10}=\tilde{f}(x), \quad x \in \square \tag{4.4}
\end{equation*}
$$

and $u_{20}(x)$ is a solution of the problem

$$
\begin{align*}
& L_{0}(\lambda) u_{20}=0 \\
& L_{k v 0}(\lambda) u_{20}=f_{k}-L_{k v 0}(\lambda) u_{10}, v=1 \text { for } k=1,2 \text { and } v=2 \text { for } k=1,2 . \tag{4.5}
\end{align*}
$$

A solution of equation (4.4) is given by the formula

$$
\begin{equation*}
\tilde{u}_{10}(x)=\frac{1}{2 \pi} \sum_{k=1}^{2} \int_{\square} e^{i \mu_{k} x} L_{0}\left(\lambda, i \mu_{k}\right)^{-1} F_{k} \tilde{f}_{k}\left(\mu_{k}\right) d \mu_{k} \tag{4.6}
\end{equation*}
$$

where $F_{k} \tilde{f}_{k}$ is the Fourier transform of the function $\tilde{f}_{k}(x)$, and $L_{0}\left(\lambda, t_{k}\right)$ is a characteristic pencil of equation (4.4), that is, $L_{0}\left(\lambda, t_{k}\right)=-t_{k}^{2} I+A_{k}+\lambda I, k=1,2$. It follows from (4.6) that

$$
\begin{align*}
& \sum_{k=1}^{2}\left(|\lambda|\left\|\tilde{u}_{1 k}\right\|_{L_{p}(\square ; H)}+\left\|\tilde{u}_{1 k}\right\|_{W_{p}^{2}\left(\square ; H\left(A_{k}\right), H\right)}\right) \\
& =\sum_{k=1}^{2}\left(\mid \lambda\| \| \tilde{u}_{1 k}\left\|_{L_{p}(\square ; H)}+\right\| A_{k} \tilde{u}_{1 k}\left\|_{L_{p}(\square ; H)}+\right\| \tilde{u}_{1 k}^{\prime \prime} \|_{L_{p}(\square ; H)}\right) \\
& \leq \sum_{k=1}^{2}\left(\left\|F_{k}^{-1} \lambda L_{0}\left(\lambda, i \mu_{k}\right)^{-1} F_{k} f_{k}\left(\mu_{k}\right)\right\|_{L_{p}(\square ; H)}\right. \\
& +\left\|F_{k}^{-1} A_{k} L_{0}\left(\lambda, i \mu_{k}\right)^{-1} F_{k} f_{k}\left(\mu_{k}\right)\right\|_{L_{p}(\square ; H)} \\
& \left.+\left\|F_{k}^{-1}\left(i \mu_{k}\right)^{2} L_{0}\left(\lambda, i \mu_{k}\right)^{-1} F_{k} f_{k}\left(\mu_{k}\right)\right\|_{L_{p}(\square ; H)}\right) . \tag{4.7}
\end{align*}
$$

Then, by using (4.7) we obtain

$$
\begin{equation*}
\sum_{k=1}^{2}\left(|\lambda|\left\|\tilde{u}_{1 k}\right\|_{L_{p}(\square ; H)}+\left\|\tilde{u}_{1 k}\right\|_{W_{p}^{2}\left(\square ; H\left(A_{k}\right), H\right)}\right) \leq C \sum_{k=1}^{2}\left\|\tilde{f}_{1 k}\right\|_{L_{p}(\square ; H)},|\arg \lambda| \leq \varphi \tag{4.8}
\end{equation*}
$$

and, therefore, $u_{10}(x) \in W_{p}^{2}\left((-1,0,1) ; H\left(A_{k}\right), H\right)$. In view of ([18], Theorem 1.8.2) and inequality (4.8), we have $u_{10}^{\left(m_{k}\right)}(-0) \in W_{p}^{2}\left((-1,0) ; H\left(A_{1}\right), H\right)_{\frac{m_{k}+\frac{1}{2 p}}{2 p}, p}, u_{10}^{\left(m_{k}\right)}(+0) \in W_{p}^{2}\left((0,1) ; H\left(A_{2}\right), H\right)_{\frac{m_{k}}{2}+\frac{1}{2 p}, p}$. Therefore, $L_{k v 0} u_{10} \in\left(H\left(A_{k}\right), H\right)_{\theta_{k v}, p}$. Hence, by virtue of Theorem 3.1, problem (4.5) has a unique solution $u_{20}(x)$ that belongs to $W_{p}^{2}\left((-1,0,1) ; H\left(A_{k}\right), H\right)$ as $|\arg \lambda| \leq \varphi$ and $|\lambda| \rightarrow \infty$. Also, for a solution of problem (4.5), for $|\arg \lambda| \leq \varphi$ and $|\lambda| \rightarrow \infty$ we have

$$
\begin{aligned}
& \sum_{k=1}^{2}\left(|\lambda|\left\|u_{2 k}\right\|_{L_{p}((-1,1) ; H)}+\left\|A_{k} u_{2 k}\right\|_{L_{p}((-1,1) ; H)}+\left\|u_{2 k}^{\prime \prime}\right\|_{L_{p}((-1,1) ; H)}\right) \\
& \leq C \sum_{j=1}^{2} \sum_{k=1}^{2}\left(\left\|f_{j k}-L_{j k 0} u_{1 k}\right\|_{\left(H\left(A_{k}\right), H\right)_{\theta_{j}, p}}+|\lambda|^{1-\theta_{j k}}\left\|f_{j k}-L_{j k 0} u_{1 k}\right\|\right) \\
& \leq C \sum_{j=1}^{2} \sum_{k=1}^{2}\left[\left(\left\|f_{j k}\right\|_{\left(H\left(A_{k}\right), H\right)_{\theta_{j k}, p}}+|\lambda|^{1-\theta_{j k}}\left\|f_{j k}\right\|\right)\right.
\end{aligned}
$$

$$
\begin{equation*}
\left.+\left(\left\|u_{1 k}^{\left(m_{k}\right)}\right\|_{C\left([-1,0) \cup(0,1] ;\left(H\left(A_{k}\right), H\right)_{\theta_{j k}, p}\right)}+|\lambda|^{1-\theta_{j k}}\left\|u_{1 k}^{\left(m_{k}\right)}\right\|_{C([-1,0) \cup(0,1] ; H)}\right)\right] \tag{4.9}
\end{equation*}
$$

From (4.8) for $|\arg \lambda| \leq \varphi$ it follows that

$$
\begin{equation*}
\sum_{k=1}^{2}\left(|\lambda|\left\|u_{1 k}\right\|_{L_{p}((-1,1) ; H)}+\left\|u_{1 k}\right\|_{W_{2}^{p}\left((-1,0,1) ; H\left(A_{k}\right), H\right)}\right) \leq C \sum_{k=1}^{2}\left\|g_{k}\right\|_{L_{p}((-1,1) ; H)} \tag{4.10}
\end{equation*}
$$

Therefore, from Theorem 2.2 and inequality (4.10) we have

$$
\begin{align*}
\left\|u_{11}^{\left(m_{k}\right)}(-0)\right\|_{\left(H\left(A_{1}\right), H\right) \theta_{k 1}} \leq C\left\|u_{11}^{\left(m_{k}\right)}\right\|_{W_{p}^{2}((-1,0,1) ; H(A), H)} \leq C\left\|g_{1}\right\|_{L_{p}((-1,1) ; H)} \\
\left\|u_{12}^{\left(m_{k}\right)}(+0)\right\|_{\left(H\left(A_{2}\right), H\right)_{\theta_{k 2}}} \leq C\left\|u_{12}^{\left(m_{k}\right)}\right\|_{W_{p}^{2}((-1,0,1) ; H(A), H)} \leq C\left\|g_{2}\right\|_{L_{p}((-1,1) ; H)} \tag{4.11}
\end{align*}
$$

In view of ([20], Theorem 1.7.7/2), for $\mu_{k} \in \square, u \in W_{2}^{2}\left((-1,0,1) ; H\left(A_{k}\right), H\right)$ it holds that

$$
\begin{align*}
& \left|\mu_{1}\right|^{2-m_{k}}\left\|u^{\left(m_{k}\right)}(-0)\right\| \leq C\left(\left|\mu_{1}\right|^{\frac{1}{p}}\|u\|_{W_{p}^{2}((-1,0,1) ; H)}+\left|\mu_{1}\right|^{2+\frac{1}{p}}\|u\|_{L_{p}((-1,1) ; H)}\right), \\
& \left|\mu_{2}\right|^{2-m_{k}}\left\|u^{\left(m_{k}\right)}(+0)\right\| \leq C\left(\left|\mu_{2}\right|^{\frac{1}{p}}\|u\|_{W_{p}^{2}((-1,0,1) ; H)}+\left|\mu_{2}\right|^{2+\frac{1}{p}}\|u\|_{L_{p}((-1,1) ; H)}\right) . \tag{4.12}
\end{align*}
$$

If the inequalities in (4.12) divided by $\left|\mu_{1}\right|^{\frac{1}{p}}$ and $\left|\mu_{2}\right|^{\frac{1}{p}}$, respectively, and substitute $\lambda=\mu_{k}^{2}$ for $\lambda \in \square$, $u \in W_{p}^{2}((-1,0,1) ; H)$, we have

$$
\begin{align*}
& |\lambda|^{1-\theta_{k 1}}\left\|u^{\left(m_{k}\right)}(-0)\right\| \leq C\left(\|u\|_{W_{p}^{2}((-1,0,1) ; H)}+|\lambda|\|u\|_{L_{p}((-1,0,1) ; H)}\right), \\
& |\lambda|^{1-\theta_{k 2}}\left\|u^{\left(m_{k}\right)}(+0)\right\| \leq C\left(\|u\|_{W_{p}^{2}((-1,0,1) ; H)}+|\lambda|\|u\|_{L_{p}((-1,0,1) ; H)}\right) . \tag{4.13}
\end{align*}
$$

Therefore, from (4.10) and (4.13) we get

$$
\begin{align*}
|\lambda|^{1-\theta_{k 1}}\left\|u_{11}^{\left(m_{k}\right)}(-0)\right\| & \leq C\left(\left\|u_{11}\right\|_{W_{2}^{p}\left((-1,0,1) ; H\left(A_{1}\right), H\right)}+|\lambda|\left\|u_{11}\right\|_{L_{p}((-1,1) ; H)}\right) \\
& \leq C\left\|g_{1}\right\|_{L_{p}((-1,1) ; H)}, \\
|\lambda|^{1-\theta_{k 2}}\left\|u_{12}^{\left(m_{k}\right)}(+0)\right\| & \leq C\left(\left\|u_{12}\right\|_{W_{2}^{p}\left((-1,0,1) ; H\left(A_{2}\right), H\right)}+|\lambda|\left\|u_{12}\right\|_{L_{p}((-1,1) ; H)}\right) \\
& \leq C\left\|g_{2}\right\|_{L_{p}((-1,1) ; H)},|\arg \lambda| \leq \varphi . \tag{4.14}
\end{align*}
$$

From (4.9), (4.11), and (4.14) for $|\arg \lambda| \leq \varphi$ and $|\lambda| \rightarrow \infty$ we have

$$
\begin{align*}
& \sum_{k=1}^{2}\left(|\lambda|\left\|u_{2 k}\right\|_{L_{p}((-1,1) ; H)}+\left\|A_{k} u_{2 k}\right\|_{L_{p}((-1,1) ; H)}+\left\|u_{2 k}^{\prime \prime}\right\|_{L_{p}((-1,1) ; H)}\right) \\
& \leq C\left[\sum_{k=1}^{2}\left\|f_{k}\right\|_{L_{p}((-1,1) ; H)}+\sum_{j=1}^{2} \sum_{k=1}^{2}\left(\left\|f_{j k}\right\|_{\left(H\left(A_{k}\right), H\right)_{\theta_{j k}, p}}+|\lambda|^{1-\theta_{j k}}\left\|f_{j k}\right\|\right)\right] . \tag{4.15}
\end{align*}
$$

Hence, from (4.14) and (4.15) we can obtain (4.3). This completed the proof.

## 5. Coerciveness and Fredholmness for transmission-boundary value problem

In this section, we will consider the following boundary value problem

$$
\begin{equation*}
L u:=-u^{\prime \prime}(x)+A u(x)+\varphi(x) u(x)=g(x), \quad x \in[-1,0) \cup(0,1] \tag{5.1}
\end{equation*}
$$

$$
\begin{array}{r}
L_{v} u=\alpha_{v} u^{\left(m_{k}\right)}(-1)+\beta_{v} u^{\left(m_{k}\right)}(-0)+\eta_{v} u^{\left(m_{k}\right)}(+0)+\gamma_{v} u^{\left(m_{k}\right)}(1)=f_{v}  \tag{5.2}\\
v=1,2,3,4, k=1,2
\end{array}
$$

where, $u_{1}(x)=u_{11}(x)+u_{21}(x)$ for $x \in[-1,0), u_{2}(x)=u_{12}(x)+u_{22}(x)$ for $x \in(0,1]$,
$u(x)=u_{1}(x)+u_{2}(x)=u_{11}(x)+u_{21}(x)+u_{12}(x)+u_{22}(x)$.
Theorem 5.1. We assume that the following conditions be satisfied:

1) $R\left(\lambda, A_{k} I\right) \leq C(1+|\lambda|)^{-1}, \arg \lambda=\pi,|\lambda| \rightarrow \infty, k=1,2$,
2) the embedding $H\left(A_{k}\right) \subset H$ is compact,
3) $\theta \neq 0$,
4) for any $\varepsilon>0$ and for almost all $x \in[-1,0) \cup(0,1]$,

$$
\left\|\varphi_{k}(x) u_{k}\right\| \leq \varepsilon\left\|A_{k} u_{k}\right\|+C(\varepsilon)\left\|u_{k}\right\|, u_{k} \in D\left(A_{k}\right), k=1,2,
$$

for $u_{k} \in\left(H\left(A_{k}\right), H\right)_{\frac{1}{2}, 1}$ and $\varphi_{k}(x) u_{k}$ are measurable on $[-1,0) \cup(0,1]$ in $H$.
Then
a) for $u_{k} \in W_{p}^{2}\left((-1,0,1) ; H\left(A_{k}\right), H\right)$, the coercive estimate

$$
\begin{align*}
& \sum_{k=1}^{2}\left(\left\|u_{k}^{\prime \prime}\right\|_{L_{p}((-1,1) ; H)}+\left\|A_{k} u_{k}\right\|_{L_{p}((-1,1) ; H)}\right) \\
& \leq C\left[\sum_{k=1}^{2}\left(\left\|L u_{k}\right\|_{L_{p}((-1,1) ; H)}+\left\|u_{k}\right\|_{L_{p}((-1,1) ; H)}\right)+\sum_{j=1}^{2} \sum_{k=1}^{2}\left\|L_{j k} u_{k}\right\|_{\left(H\left(A_{k}\right) ; H\right)_{\theta_{j k ;}, p}}\right], \tag{5.3}
\end{align*}
$$

where $\theta_{\nu}:=\frac{m_{k}}{2}+\frac{1}{2 p}, v=1,2,3,4, k=1,2, p \in(1, \infty)$, holds;
b) the operator $\mathrm{L}_{0}(\lambda): u_{k} \rightarrow \mathrm{~L}_{0}(\lambda) u_{k}:=\left(L(D) u_{k}, L_{1} u_{k}, L_{2} u_{k}, L_{3} u_{k}, L_{4} u_{k}\right)$ from $W_{p}^{2}\left((-1,0,1) ; H\left(A_{k}\right), H\right)$ into

$$
L_{p}((-1,1) ; H) \dot{+}\left(H\left(A_{1}\right), H\right)_{\theta_{1}, p} \dot{+}\left(H\left(A_{1}\right), H\right)_{\theta_{2}, p} \dot{+}\left(H\left(A_{2}\right), H\right)_{\theta_{3}, p} \dot{+}\left(H\left(A_{2}\right), H\right)_{\theta_{4}, p}
$$

is bounded and Fredholm.
Proof. Assume that condition (1) is satisfied for $\arg \lambda=\pi$. The general case is a reduced to the latter if the operator $A_{k}+\lambda_{0} I$ for some $\lambda_{0}>0$ sufficiently large, is considered instead of the operator $A_{k}$, and the operator $\varphi_{k}(x)-\lambda_{0} I$ is considered instead of the operator $\varphi_{k}(x), k=1,2$.
a) Let $u_{k}(x) \in W_{p}^{2}\left((-1,0,1) ; H\left(A_{k}\right), H\right)$ be a solution of problem (5.1)-(5.2). Then $u_{k}(x)$ is a solution of the problem

$$
\begin{gathered}
-u_{k}^{\prime \prime}(x)+\left(A_{k}+\lambda I\right) u_{k}(x)=f_{k}(x)+\lambda u_{k}(x)-\varphi_{k}(x) u_{k}(x), k=1,2 \\
L_{v 0} u_{k}=f_{v}, \quad v=1,2,3,4, k=1,2
\end{gathered}
$$

where $L_{k \nu 0}$ are defined by equalities (3.2). By Theorem 4.1 for $\lambda \rightarrow \infty$ we have the estimate

$$
\begin{aligned}
& \sum_{k=1}^{2}\left(\left\|u_{k}^{\prime \prime}\right\|_{L_{p}((-1,1) ; H)}+\left\|A_{k} u_{k}\right\|_{L_{p}((-1,1) ; H)}\right) \\
& \leq C\left(\sum_{k=1}^{2}\left\|g_{k}(x)+\lambda u_{k}-\varphi_{k}(x) u_{k}(x)\right\|_{L_{p}((-1,1) ; H)}+\sum_{v=1}^{2} \sum_{k=1}^{2}\left\|f_{v k}\right\|_{\left(H\left(A_{k}\right), H\right)_{\partial_{k, k}, p}}\right) \\
& \leq C\left[\sum_{k=1}^{2}\left(\left\|g_{k}\right\|_{L_{p}((-1,1) ; H)}+\left\|u_{k}\right\|_{L_{p}((-1,1) ; H)}+\left\|\varphi_{k} u_{k}\right\|_{L_{p}((-1,1) ; H)}\right)\right.
\end{aligned}
$$

$$
\begin{equation*}
\left.+\sum_{v=1}^{2} \sum_{k=1}^{2}\left\|f_{v k}\right\|_{\left(H\left(A_{k}\right), H\right)_{\theta_{v k}, p}}\right] \tag{5.4}
\end{equation*}
$$

where, $\theta_{11}:=\theta_{1}, \theta_{21}:=\theta_{2}, \theta_{12}:=\theta_{3}, \theta_{22}:=\theta_{4}, f_{11}:=f_{1}, f_{21}:=f_{2}, f_{12}:=f_{3}, f_{22}:=f_{4}$.
In view of condition (4) and ([13], Theorem 4), for $u_{k}(x) \in W_{p}^{2}\left((-1,0,1) ; H\left(A_{k}\right), H\right)$,

$$
\begin{equation*}
\left\|\varphi_{k} u_{k}\right\|_{L_{p}((-1,1) ; H)} \leq \varepsilon\left\|u_{k}\right\|_{W_{p}^{1}\left((-1,0,1) ; H\left(A_{k}\right), H\right)}+C(\varepsilon)\left\|u_{k}\right\|_{L_{p}((-1,1) ; H)}, k=1,2 . \tag{5.5}
\end{equation*}
$$

By S. and Y. Yakubov ([20], Lemma 1.7.7/2), for $u_{k}(x) \in W_{p}^{2}((-1,0,1) ; H)$,

$$
\begin{equation*}
\left\|\varphi_{k} u_{k}\right\|_{L_{p}((-1,1) ; H)} \leq \varepsilon\left\|u_{k}\right\|_{W_{p}^{2}\left((-1,0,1) ; H\left(A_{k}\right), H\right)}+C(\varepsilon)\left\|u_{k}\right\|_{L_{p}((-1,1) ; H)}, k=1,2 \tag{5.6}
\end{equation*}
$$

Substituting (5.6) into (5.4) we have (5.3).
b) The operator $\mathrm{L}_{k}$ can be written in the form

$$
\begin{equation*}
\mathrm{L}_{k}=\mathrm{L}_{0}\left(\lambda_{0}\right)+\mathrm{L}_{k}, \quad k=1,2 \tag{5.7}
\end{equation*}
$$

where $\mathrm{L}_{0}(\lambda) u_{1}:=\mathrm{L}_{01}(\lambda) u_{1}:=\left(L_{0}(\lambda) u_{1}, L_{1} u_{1}, L_{2} u_{1} L_{3}, u_{1} L_{4} u_{1}\right)$,
$L_{0}(\lambda), L_{1}, L_{2}, L_{3}, L_{4}$ are defined by equalities (3.1)-(3.2), and

$$
\begin{aligned}
& \mathrm{L}_{1} u_{1}=\left(-\lambda u_{1}(x)+\varphi_{1}(x) u_{1}(x), 0,0\right) \\
& \mathrm{L}_{2} u_{2}=\left(-\lambda u_{2}(x)+\varphi_{2}(x) u_{2}(x), 0,0\right)
\end{aligned}
$$

We can conclude from Theorem 4.1 that $\mathrm{L}_{0}\left(\lambda_{0}\right)$ from $W_{p}^{2}\left((-1,0,1) ; H\left(A_{k}\right), H\right)$ onto $\left.L_{p}((-1,1) ; H)+\left(H\left(A_{1}\right), H\right)_{\theta_{11}, p}+\left(H\left(A_{1}\right), H\right)_{\theta_{21}, p}+\left(H\left(A_{2}\right), H\right)_{\theta_{12}, p}+\left(H\left(A_{2}\right), H\right)_{\theta_{22}, p}\right)$ has an inverse. From (5.7), (5.9) it follows that the operator $\mathrm{L}_{1 k}$ from $W_{p}^{2}\left((-1,0,1) ; H\left(A_{k}\right), H\right)$ into

$$
L_{p}((-1,1) ; H) \dot{+}\left(H\left(A_{1}\right), H\right)_{\theta_{11}, p} \dot{+}\left(H\left(A_{1}\right), H\right)_{\theta_{21}, p} \dot{+}\left(H\left(A_{2}\right), H\right)_{\theta_{12}, p} \dot{+}\left(H\left(A_{2}\right), H\right)_{\theta_{22}, p}
$$

is compact. The proof of the theorem is completed in view of application by Theorem 2.3 to operator (5.7).

## REFERENCES

[1] Aliyev, Z. S., 2010. Basis properties of a fourth order differential operator with spectral parameter in the boundary condition. Open Mathematics, 8, 2, 378-388.
[2] Aydemir, K. 2014. Boundary value problems with eigenvalue depending boundary and transmission conditions. Boundary Value Problems, 2014/1/131.
[3] Dore, G.and Yakubov, S. Semigroup estimates and noncoercive boundary value problems. Semigroup Forum, 1-30 (to appear).
[4] Imanbaev, N. S. and Sadybekov, M. A. 2014. Characteristic determinant of the spectral problem for the ordinary differential operator with the boundary load. International conference on analysis and applied mathematics (ICAAM 2014)AIP Conference Proceedings, 1611, 261-265.
[5] Kandemir, M. 2015. Nonlocal boundary value problems with transmission conditions. Gulf Journal of Mathematics, 3, (1), 1-17.
[6] Kandemir, M., 2012. Irregular boundary value problems for elliptic differential-operator equations with discontinuous coefficients and transmission conditions. Kuwait journal of Science and Engineering 39 (1A) 71-97.
[7] Kandemir, M., Mukhtarov, O. Sh. and Yakubov, Ya. 2009. Irregular boundary value problems with discontinuous coefficients and the eigenvalue parameter. Mediterranean Journal of Mathematics, 6, 317-338.
[8] Kandemir, M. and Yakubov, Ya. 2010. Regular boundary value problems with a discontinuous coefficient, functionalmultipoint conditions, and a linear spectral parameter. Israel Journal of Mathematics, 180, 255-270.
[9] Krein, S. G. 1982. Linear Equations in Banach Spaces. Birkhauser,
[10] Likov, A. V. and Mikhailov, Yu. A. 1963. The theory of heat and mass transfer. Qosenergaizdat.
[11] Mukhtarov, O. Sh. 1994. Discontinuous Boundary value problem with spectral parameter in boundary conditions. Turkish J. Math. 18, 183-192.
[12] Mukhtarov, O. Sh. and Demir, H. 1999. Coerciveness of the Discontinuous Initial-Boundary Value Problem for Parabolic Equation, Israel J. Math. 114, 239-252.
[13] Mukhtarov, O. Sh. and Yakubov, S. 2002. Problems for ordinary differential equations with transmission conditions. Applicable Analysis, 81, 1033-1064.
[14] Shakhmurov, V. B. 2013. Linear and nonlinear abstract elliptic equations with VMO coeacients and applications. Fixed point theory and applications. 6, 1-21.
[15] Shkalikov, A. A. 1983. Boundary value problems for ordinary differential Equations with a parameter in boundary conditions. Trudy Sem. Petrovsk. 9, 190-229.
[16] Skubachevskii, A. L. 1997. Elliptic Functional Differential Equations and Applications, Birkhasuer Verlag, Basel.
[17] Tarkhanov, N. 2007. On the Root Functions of General Elliptic Boundary Value Problems. Complex analysis and operator thoory, 1(1), 115-141.
[18] Triebel, H. 1978. Interpolation Theory. Function Spaces. Differential Operators. Nort-Holland, Amsterdam.
[19] Yakubov, S. 1999. A nonlocal boundary value problem for elliptic differential-operator equations and applications. Integral Equations and Operator Theory 35, 485-506.
[20] Yakubov, S. and Yakubov Ya. 1999. Differential-Operator Equation Ordinary and Partial Differential Equation. Chapman and Hall/CRC Boca Raton London New York Washington, D. C.

